Monthly Test, November - 2010
Sub : Maths, Class : VIII

Time: 40 Min. M.M 20
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Each guestion carries one mark.

Fill in the blanks:

i) (athtcP= p*+H+e+2ab42 A D

{(ii) The degree of the Polynomial 653541 08 .ooiiicccins ©
{iil} The line joining the mid point of chord to the centre is

cevenecens 0N Chord,

{iv) The equal chords of a circle make .................. angles at
the centre.
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Each question carries two marks.
(i} Write in expanded form by using identity: (2x +m_..tu_.ﬂ
(i) Divide 16v*-1 by 4y+1
(iti) Find the radius of a circle in which distance of a 12em.
long chord from the centre is Scm,
Each guestion carries three marks.
(1) Find the value of Bx™y" if 2x+y=3 and xy=|
OR
Factorise: Bx™360x0'+54x4+27
(i) Divide |54° 4 x— 6 by 3x+2
(i1} In the given figure AQOR is diameter of
a circle. If ZABC = 40" Find £CAB
DR

/)
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Prove algebraic identity (x + ) (x+4) = x* +(a+b)x + ab
by activity.
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(1} {atbtef= a+b™+c*+2ab+2 ... L S

(iiy 6x-3x+l Resguedtws -1
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(i) fewafe qufad: (2x+5y)

(i) 16y & dy+| 5785 FF |

(iil) o da =7 vy fowrm u=r &7 faw 2t 12 AW &9t Hier
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(i) Sx'+y* T HE U™ 9 HET 2x+v=3 T xy=1 T2 |
HT
Bx'+36xM4+54x+27 F FESYE T
(ii) HIUT |§x° 4y & 3x+2 5® Far ad|

iiii) =7 f&9 AOB da7 o fowmm ;
I H ZABC= 40" T% I ZCAB
T Y UIT &9 | v .
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Ut Aifead TTAHE (x+a) (x+b) = x* +{a+B)x+ab
& fafew ot fio a9



